Linear Equations
(2 step and Brackets)
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1 Solve 3x-5=16

2x= 2Ll
- T

(Total for Question 1 is 2 marks)

Ll*j -~ 20
y= S

(Total for Question 2 is 2 marks)

3 Solve 3w-1=14

2w = IS
S

(Total for Question 3 is 2 marks)

4 Solve 2a-8=12

da = 1O
as | O

(Total for Question 4 is 2 marks)

5 Solve 10b-13=7

|Ob = 40
SRS R

(Total for Question 5 is 2 marks)

1

www. 1stclassmaths.com © 1stclassmaths D ¥ Bl @) eistciassmatns



http://www.1stclassmaths.com/

I’ y r@ @1stclassmaths

6 Solve 7p-3=25

Fp= A8
! _—

(Total for Question 6 is 2 marks)

7 Solve 3g+1=25

39 = 14
- &

(Total for Question 7 is 2 marks)

8 Solve 12r-5=31

12c= 36
- 3

(Total for Question 8 is 2 marks)

9 Solve 9c-1=62

9e- 63
S

(Total for Question 9 is 2 marks)

10 Solve 5d-10=5

Sd= 1S
am

(Total for Question 10 is 2 marks)
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11 Solve 3x+15=6

G

(Total for Question 11 is 2 marks)

12 Solve 2y+20=12

233‘2
e §

(Total for Question 12 is 2 marks)

13 Solve 5w+5=-30

Sw:=-35
w= —1

(Total for Question 13 is 2 marks)

14 Solve 20=2m -8

2%8= 2m
G

(Total for Question 14 is 2 marks)

15 Solve 6n+4=7

onz= 3

\
P

n= 2

(Total for Question 15 is 2 marks)
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16 Solve 5(a+3)=20

a+3=Y% |

(Total for Question 16 is 2 marks)

17 Solve 6(d-2)=18

d-1=23
=D

(Total for Question 17 is 2 marks)

18 Solve 11(g+ 7) =66

j-r—‘?' = 6
9= —l

(Total for Question 18 is 2 marks)

19 Solve 21 =3(h-1)

3= h- |
-

(Total for Question 19 is 2 marks)
20 Solve 5(p+2)+2p=38

Sp+ 10 ¥ 1p=1
1p +10=28
+90=2% . »

(Total for Question 20 is 3 marks)
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